This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 10 - East Kilbride East

5,068

1,268

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
John CAIRNEY	Independent		166
Brian DOOLAN	UKIP		55
Lorna Menzies Paterson GALL	Scottish Liberal Democrats		109
Gladys MILLER	Scottish National Party (SNP)		1,374
Isabel PERRATT	Scottish Conservative and Unionist		911
Kirsten ROBB	Scottish Green Party		366
Graham SCOTT	Scottish Labour Party		1,314
Jim WARDHAUGH	Scottish National Party (SNP)		773
		Total	5,068

Candidate Gladys MILLER Elected with 1,374 votes, being in excess of the quota of 1,268 Candidate Graham SCOTT Elected with 1,314 votes, being in excess of the quota of 1,268

This report contains the transfers results.

Stage 2 - Surplus of Gladys MILLER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNEY	12	0.07714	0.92568
Transfer to Brian DOOLAN	5	0.07714	0.38570
Transfer to Lorna Menzies Paterson GALL	20	0.07714	1.54280
Transfer to Gladys MILLER	0	0.00000	0.00000
Transfer to Isabel PERRATT	16	0.07714	1.23424
Transfer to Kirsten ROBB	151	0.07714	11.64814
Transfer to Graham SCOTT	0	0.00000	0.00000
Transfer to Jim WARDHAUGH	1,084	0.07714	83.61976
Value of non-transferable ballot papers			6.64368
	Total		106.00000

This report contains the transfers results.

Stage 3 - Surplus of Graham SCOTT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNEY	136	0.03500	4.76000
Transfer to Brian DOOLAN	29	0.03500	1.01500
Transfer to Lorna Menzies Paterson GALL	182	0.03500	6.37000
Transfer to Gladys MILLER	0	0.00000	0.00000
Transfer to Isabel PERRATT	230	0.03500	8.05000
Transfer to Kirsten ROBB	186	0.03500	6.51000
Transfer to Graham SCOTT	0	0.00000	0.00000
Transfer to Jim WARDHAUGH	154	0.03500	5.39000
Value of non-transferable ballot papers			13.90500
	Total		46.00000

This report contains the transfers results.

Stage 4 - Exclusion of Brian DOOLAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNEY	7	0.03500	0.24500
Transfer to John CAIRNEY	7	1.00000	7.00000
Transfer to John CAIRNEY	1	0.07714	0.07714
Transfer to Lorna Menzies Paterson GALL	5	1.00000	5.00000
Transfer to Lorna Menzies Paterson GALL	3	0.03500	0.10500
Transfer to Gladys MILLER	0	0.00000	0.00000
Transfer to Isabel PERRATT	4	0.03500	0.14000
Transfer to Isabel PERRATT	19	1.00000	19.00000
Transfer to Kirsten ROBB	8	1.00000	8.00000
Transfer to Kirsten ROBB	6	0.03500	0.21000
Transfer to Graham SCOTT	0	0.00000	0.00000
Transfer to Jim WARDHAUGH	2	0.07714	0.15428
Transfer to Jim WARDHAUGH	3	0.03500	0.10500
Transfer to Jim WARDHAUGH	5	1.00000	5.00000
Value of non-transferable ballot papers			11.36428
	Total		56.40070

This report contains the transfers results.

Stage 5 - Exclusion of Lorna Menzies Paterson GALL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNEY	32	0.03500	1.12000
Transfer to John CAIRNEY	1	0.07714	0.07714
Transfer to John CAIRNEY	13	1.00000	13.00000
Transfer to Brian DOOLAN	0	0.00000	0.00000
Transfer to Gladys MILLER	0	0.00000	0.00000
Transfer to Isabel PERRATT	40	1.00000	40.00000
Transfer to Isabel PERRATT	2	0.07714	0.15428
Transfer to Isabel PERRATT	49	0.03500	1.71500
Transfer to Kirsten ROBB	41	0.03500	1.43500
Transfer to Kirsten ROBB	5	0.07714	0.38570
Transfer to Kirsten ROBB	24	1.00000	24.00000
Transfer to Graham SCOTT	0	0.00000	0.00000
Transfer to Jim WARDHAUGH	5	1.00000	5.00000
Transfer to Jim WARDHAUGH	7	0.07714	0.53998
Transfer to Jim WARDHAUGH	7	0.03500	0.24500
Value of non-transferable ballot papers			34.34570
	Total		122.01780

This report contains the transfers results.

Stage 6 - Exclusion of John CAIRNEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian DOOLAN	0	0.00000	0.00000
Transfer to Lorna Menzies Paterson GALL	0	0.00000	0.00000
Transfer to Gladys MILLER	0	0.00000	0.00000
Transfer to Isabel PERRATT	48	1.00000	48.00000
Transfer to Isabel PERRATT	31	0.03500	1.08500
Transfer to Isabel PERRATT	1	0.07714	0.07714
Transfer to Kirsten ROBB	4	0.07714	0.30856
Transfer to Kirsten ROBB	30	0.03500	1.05000
Transfer to Kirsten ROBB	44	1.00000	44.00000
Transfer to Graham SCOTT	0	0.00000	0.00000
Transfer to Jim WARDHAUGH	28	1.00000	28.00000
Transfer to Jim WARDHAUGH	12	0.03500	0.42000
Transfer to Jim WARDHAUGH	5	0.07714	0.38570
Value of non-transferable ballot papers			69.87856
	Total		193.20496

This report contains the transfers results.

Stage 7 - Exclusion of Kirsten ROBB

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNEY	0	0.00000	0.00000
Transfer to Brian DOOLAN	0	0.00000	0.00000
Transfer to Lorna Menzies Paterson GALL	0	0.00000	0.00000
Transfer to Gladys MILLER	0	0.00000	0.00000
Transfer to Isabel PERRATT	46	1.00000	46.00000
Transfer to Isabel PERRATT	40	0.03500	1.40000
Transfer to Isabel PERRATT	4	0.07714	0.30856
Transfer to Graham SCOTT	0	0.00000	0.00000
Transfer to Jim WARDHAUGH	190	1.00000	190.00000
Transfer to Jim WARDHAUGH	102	0.07714	7.86828
Transfer to Jim WARDHAUGH	43	0.03500	1.50500
Value of non-transferable ballot papers			216.46556
	Total		463.54740

This report contains the transfers results.

Stage 8 - Exclusion of Isabel PERRATT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNEY	0	0.00000	0.00000
Transfer to Brian DOOLAN	0	0.00000	0.00000
Transfer to Lorna Menzies Paterson GALL	0	0.00000	0.00000
Transfer to Gladys MILLER	0	0.00000	0.00000
Transfer to Kirsten ROBB	0	0.00000	0.00000
Transfer to Graham SCOTT	0	0.00000	0.00000
Transfer to Jim WARDHAUGH	68	0.03500	2.38000
Transfer to Jim WARDHAUGH	16	0.07714	1.23424
Transfer to Jim WARDHAUGH	121	1.00000	121.00000
Value of non-transferable ballot papers			953.54998
	Total		1,078.16422